Y TORNEO T-230

HEPE‘-IEHb KOMIMJ1eKTYHOLWNX

Ne Onucanue Cneuudukaums Kon-Bo, wt
1 Pama onopHas 1
2 Pama ocHoBHas 1
3L/R CTOWKa KOHCONM 1 napa
4 Pama KoHconu 1
5 MepefHWn ponnk 1
6 3aHW ponnK 1
7 AMOpTM3aTOp NogbemMa nosioTHa 1
8 LWTndr 2
9 KpblLlwKa MOTOPHOrO OTCeka 1
10 KpblLLIKa MOTOPHOI0 OTCEKa HUXKHAS 1
il Koxyx nopy4Hs 1
12 KpbiLKa KOHCOMN HUXKHAA 1
13 He3a0 kYa 6e3onacHocTu 1
14 BUHT M5x8 2
15 OnsieTka nopy4Hs 2
16 Jeka 1
17 berosoe NnoaoTHO 1
18L/R BOKOBOM KOXKYX 1napa
19 3aLMTHbIN 3KpaH 1
20 PO/IMIK TPAHCMOPTUPOBOYHbIV 2
21 Onopa 2
22 3arnylka 2
23 CTsdkka Kabens 1
24 PemeHb Np1BOAHOM 1
25 Onopa manas 2
26 3arnywka 2
27 Perynvpyemas onopa 2
28 Lan6a 2
29 LLlanba nnactukosas 2
30 3arnylka 2
31 bont D12x44.5xM10x25 2
32 BOANT C BHYTPEHHVM LIeCTUTPaHHUKOM M8x45 4
33 BOAT C BHYTPEHHMM LLIECTUrPAHHUKOM M8x40 3
34 BOAT WecTUrpaHHbIv M38x15 2
35 BOANT C BHYTPEHHUM WeCTUrPaHHUKOM M8x15 6
36 BOAT WecTUrpaHHbIv M8x50 2
37 MopaoH 1
38 Moaywka aMopT13aLMOHHas 2
39 Moayuwka nexku 4
40 BONT WecTurpaHHbIi M8x55 2
41 BONT C BHYTPEHHMM LIEeCTUTPaHHNKOM M6x37 2
42 BOANT C BHYTPEHHUM WeCTUrPaHHUKOM M6x25 2
43 BUHT M6x15 2
44 BUHT M5x12 5
45 BUHT M4x8 2
46 BUHT ST4x40 4
47 BUHT ST4x16 20
48 Camopes ST4x8 13
49 [MpocTasKka D35XD10x2 2
50 Camopes ST4x12 24
51 Kpbiwka CMCcTeMbl 3aMnpasku MacioM 1
52 Hanpasnstouias Tpybka cucTemMbl 3anpaBkn Maciom 1
53 Lllan6a cTonopHas D8x1.2 16
54 MaHenb KOHCoNMN 1
55 KodKyx KOHCONW 3a4HWUI 1
56 Bbikaoyaresb 1
57 MpeaoxpaHuTesb 1
58 Kabenb nuTaHus 1
59 Haknaaka npoTuBOCKOIb3SALWAs 1
60 rarka CamMoKOHTPALLAsCS M8 4
61 FanKa camoKoHTpALLasCcs M6 8
62 KoHTponnep 1
63 OCHOBaHuWe Aatymka nyabca 2
64 Kabenb KOHCONM BEPXHUM 1
65 Kabenb KOHCONM cpefHUi 1
66 Kabenb KOHCONMN HUXKHUI 1
67 Kntoy 6e3onacHocTn 1
68 Lllanba D12x1.0 2
69 dnekTpoasuraTesb 1
70 Mpecc-wanba 6
71L/R JlaTymk nynbca 2
72 KpoHLwTenH 2
73 Haknagka gemnoupytowas 2
74 BUHT M3x15 2
75 ranka M3 2
76 3arnywka 2
77 BONT C BHYTPEHHUM LWEeCTUrPaHHUKOM M6x20 4
78 BUHT M5x25 6
79 BUHT ST4x20 4
80 BUHT ST4x12 3
81 LLian6a rpoBepHas D8 2
82 Lllanba D26xD8.2x2.0 2
83 BOAT C BHYTPEHHMM LLIECTUrPAHHUKOM M8x25 1
84 KoHconb 1




T-230

MoaeTasnibHaa cxema TpEHaXKepa




